

Village Sundrel Tehsil: Dharampuri , Distt. Dhar MP – 454552 E-mail:- goatwala@gmail.com , Website: www.goatwala.com Mob.:-+91 78699-29786

Cost of project For 100 + 5 = 105 Goat unit

Indicative list of items eligible for funding under sheep and goat entrepreneurship for establishment of breeder goat farm of 100 females and 5maleSheep and Goat.

S. No.	Particulars	Unit	Rate	Amount	Amount	componant
1	Construction of housing shed	1250 sq.ft				
	for parent stock (25 ft. X				337500	cost of construction
	500ft)		150	187500	337300	
2	Kid shed & sick pen	1000 sq.ft	150	150000		
3	Cost of Doe	100 nos.	14500	1450000	1550000	Livesteck / Ceats
4	Cost of Buck	5 nos.	20000	100000	1550000	Livestock / Goats
5	Transportation cost	100 nos.			41000	
			200	21000	41000	
6	Fodder cultivation and feed	1 acre				plant & Machinary
	Purchase		270	28350		
7	Chaff cutter	1 nos.	1	20000		
8	Integrated silage making machine	1no.				
			0	0		
9	Equipment	For 105 no. of			32860	ather component
		animals	200	21000	32800	other componant
10	Insurance	For 105 of				
		animals	168	17640		
11	Miscellaneous	As required	43	4510	17640	insurance
					21000	Transportation
	Total cost of project			2000000	2000000	

Note :-



Village Sundrel Tehsil: Dharampuri , Distt. Dhar MP – 454552 E-mail:- goatwala@gmail.com , Website: www.goatwala.com Mob.:-+91 78699-29786

Cost of project For 200 + 10 = 210 Goat unit

Indicative list of items eligible for funding under sheep and goat entrepreneurship for establishment of breeder goat farm of 200 females and 10 maleSheep and Goat.

S. No.	Particulars	Unit	Rate	Amount	Amount	componant
1	Construction of housing shed for parent	2250 sq.ft				
	stock (25 ft. X 100 ft)		150	337500	562500	cost of construction
2	Kid shed & sick pen	1500 sq.ft	150	225000		
3	Cost of Doe	100 nos.	15000	3000000	3200000	Livesteck / Cents
4	Cost of Buck	5 nos.	20000	200000	3200000	Livestock / Goats
5	Transportation cost	210 nos.			72000	
			200	42000	72000	plant & Machinary
6	Fodder cultivation and feed Purchase	2 acre	300	63000		
7	Chaff cutter	1 nos.	1	30000		
8	Integrated silage making machine	1no.	0	0		
9	Equipment	For 210 no. of				
		animals	200	42000	83600	other componant
10	Insurance	For 210 of				
		animals	190	39900		
11	Miscellaneous	As required	99	20600	39900	insurance
					42000	Transportation
	Total cost of project			4000000	4000000	

Note :-



Village Sundrel Tehsil: Dharampuri , Distt. Dhar MP – 454552 E-mail:- goatwala@gmail.com , Website: www.goatwala.com Mob.:-+91 78699-29786

Cost of project For 300 + 15 = 315 Goat unit

Indicative list of items eligible for funding under sheep and goat entrepreneurship for establishment of breeder goat farm of 300 females and 15 maleSheep and Goat.

S. No.	Particulars	Unit	Rate	Amount	Amount	componant
1	Construction of housing shed for parent	3500 sq.ft				cost of
	stock (35 ft. X 100 ft)		150	525000	900000	
2	Kid shed & sick pen	2500 sq.ft	150	375000		construction
3	Cost of Doe	300 nos.	15000	4500000	4800000	Livestock / Goats
4	Cost of Buck	15 nos.	20000	300000	4800000	
5	Transportation cost	315nos.			00050	
			150	47250	89850	plant & Machinary
6	Fodder cultivation and feed Purchase	3 acre	250	78750		
7	Chaff cutter	1 nos.	1	30000		
8	Integrated silage making machine	1no.	0	0		
9	Equipment	For 315 no. of				
		animals	190	59850	106200	other componant
10	Insurance	For 315 of				
		animals	180	56700		
11	Miscellaneous	As required	88	27450	56700	insurance
					47250	Transportation
	Total cost of project			6000000	6000000	

Note :-



Village Sundrel Tehsil: Dharampuri , Distt. Dhar MP – 454552 E-mail:- goatwala@gmail.com , Website: www.goatwala.com Mob.:-+91 78699-29786

Cost of project

For 400 + 20 = 420 Goat unit

Indicative list of items eligible for funding under sheep and goat entrepreneurship for establishment of breeder goat farm of 400 females and 20 maleSheep and Goat.

S. No.	Particulars	Unit	Rate	Amount	Amount	componant
1	Construction of housing shed for parent	4500 sq.ft				cost of
	stock (30 ft. X 150 ft)		150	675000	1125000	construction
2	Kid shed & sick pen	3000 sq.ft	150	450000		construction
3	Cost of Doe	400 nos.	15000	6000000	6400000	Livestock / Goats
4	Cost of Buck	20 nos.	20000	400000	0400000	
5	Transportation cost	315nos.			135000	
			150	63000	133000	plant & Machinary
6	Fodder cultivation and feed Purchase	4 acre	295	123900		
7	Chaff cutter	1 nos.	1	30000		
8	Integrated silage making machine	1no.	0	0		
9	Equipment	For 420 no. of				
		animals	250	105000	172000	other componant
10	Insurance	For 420 of				
		animals	250	105000		
11	Miscellaneous	As required	115	48100	105000	insurance
					63000	Transportation
	Total cost of project			8000000	8000000	

Note :-



Village Sundrel Tehsil: Dharampuri , Distt. Dhar MP – 454552 E-mail:- goatwala@gmail.com , Website: www.goatwala.com Mob.:-+91 78699-29786

Cost of project For 500 + 25 = 525 Goat unit

Indicative list of items eligible for funding under sheep and goat entrepreneurship for establishment of breeder goat farm of 500 females and 25maleSheep and Goat.

S. No.	Particulars	Unit	Rate	Amount	Amount	componant
1	Construction of housing shed for parent stock	5500 sq.ft				
	(55 ft. x100ft)		150	825000	1350000	cost of construction
2	Kid shed & sick pen	3500 sq.ft	150	525000		
3	Cost of Doe	500 nos.	15000	7500000	8000000	Livesteck / Geats
4	Cost of Buck	25 nos.	20000	500000	8000000	Livestock / Goats
5	Transportation cost	525 nos.	100	52500	145500	
6	Fodder cultivation and feed	5 acre				plant & Machinary
	Purchase		700	367500		
7	Chaff cutter	2 nos.	1	30000		
8	Integrated silage making machine	1no.	0	0		
9	Equipment	For 525 no. of animals			399000	other componant
			220	115500		
10	Insurance	For 525 of animals	110	53000		
11	Miscellaneous	As required	60	31500	53000	insurance
					52500	Transportation
	Total cost of project			1000000	10000000	

Note :-